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Derekszogu-koordinatameres
d= 11.13
ay 648055.35
ax 98669.94
db 265.6610503 |342.4875 a 0
tb 149.78 123:.25 b 58.595
1 30.19 0 5 8.11333333 44.38
2 78.12 0 6 64.3983333 35.49
3 97.12 0 7 |86.59166667 64.57
4 122,19 0
8 130.11 -89.12
b 149.92
metszéspontok polaris pontok szamitasa
sor |nev d by bx cy . cx
1 [HOLUW BALOR 11.13 647906.00 98658.61 648018.26 98787 .48
2 ). 11.46 647905.82 98661.22 648020.32 98788.11
3 — M~ 11.79 647905.69 98663.83 648022.39 98788.70
4 12.12 647905.61 98666.44 648024.46 98789.26
5 12.45 647905.57 98669.05 648026.55 98789.78
6 12.78 647905.58 98671.67 648028.65 98790.26
7 13.11 647905.63 98674.28 648030.75 98790.71
8 13.44 647905.73 98676.89 648032.86 98791.12
9 13.77 647905.88 98679.50 648034.98 98791.50
10 14.10 647906.07 98682.11 648037.11 98791.83
11 14.43 647906.30 98684.71 648039.24 98792.13
12 R/ hves? 14.76 647906.58 98687.31 648041.37 98792.39
13 15.09 647906.91 98689.91 648043.51 98792.62
14 ) 15.42 647907.28 98692.50 648045.65 98792.81
15 | 922.27% </ 4 15.75 647907.69 98695.08 648047.80 98792.96
16 " 16.08 647908.16 98697 .65 648049.95 98793.07
17 16.41 647908.66 98700.21 648052.10 98793.15
18 16.74 647909.21 98702.77 648054.25 98793.19
19 17.07 647909.81 98705.31 648056.40 98793.19
20 17.40 647910.45 98707 .85 648058.55 98793.15
21 17793 647911.13 98710.37 648060.70 96793.07
22 18.06 647611.86 98712.88 £48062.85 98792.8¢
23 18.39 647912.63 98715.38 648064.99 98792 .81
24 |[(2p, 18.72 647913.44 98717.86 648067.14 98792.63
25 | BDpasbs,  Sn byl 19.05 647914.30 98720.33 648069.28 98792.40
26 19.38 647915.20 98722.79 648071.41 98792.14
27 19.71 647916.15 98725.23 648073.54 98791.84
28 20.04 647917.13 98727.65 648075.67 98791.50
29 20.37 647918.16 | - 98730.05 648077.78 98791.13
30 20.70 647919.23 98732.44 648079.90 98790.72
31 21.03 647920.34 98734.80 648082.00 98790.27
32 21.36 647921.50 98737.15 648084.10 98789.79
33 21.69 647922 .69 98739.47 648086.18 98789.27
34 22.02 647923.92 98741.78 648088.26 98788.71
35 22.35 647925.20 98744.06 648090.33 98788.12




